Naam:

4X2=
4X5-=
6X3=
/X7 =

12 X 4 =
12X 3 =
10 X 8 =

3Xx2=
8 xX8=
4x7=
1x10 =
4x11=
OX6=
8x6=

9 X12 =

10 x4 =
10 x 8 =

Mx2=
1Xx12 =
/X6=
2X4-=
4 X9 =
MxS=
4x0-=
2X8=

Mx1=

6Xx4-=
8X9=
Px2=
3X9=

2 fout

12 x 6 =

Mx12=

4x2-=
3X9-=
9x0-=

10X3 =

?x6=
4x3=
2X9=
1x12 =

12X 9 =

6X9=
5X 8=
8x7=

10x6=

2 minutentoets 1 t/m 12



Naam:

4x2= 8
4x5= 20
6x3= 18
7x7= 49
12x4= 44
12x3= 36
10x8= &0
3x2= 6
8x8= 64
4x7= 28
1x10= 10
4x11= 44
5x6= 30
8x6= 48

9 x12= 108

10 x4 =
10 x 8 =

Mx2=
1Xx12 =
/7 X6=
2X4-=
4 X9 =
MxS=
4x0-=
2X8=

Mx1=

6Xx4-=
8X9=
9x2=
3X9=

40

80

22

42

8

36

995

O

16

121

24

72

18

27

12x6=72
1Mx12=132
4x2= 8
3x9= 2/
9x0= O
10 x5= 50
Oxb6= 36
4x3= 12
2X9= 18
1x12= 12
12X 9 =108
6x9= 54
5x8= 40
8X7= 54
10 x6 =60




Naam:

4X3= 10x4= =  3x7-=
4x6-= 10x3= = 10x6=
6 X7 = 10x6= = 4x5-=
7 X8 = 1X7= 3x4-=
9x5= /x8=  9x3=
8X6= 2x9= 10x2=
100 X7 = 4x10= = 9x1=
3x8= 5x5= = 4x2=
8XxX9= 4x7= = 2X3=
4 x10 = 2x0= = 1x4=
1X9 = 10 x10 = ?9x7=
4x5= 6x3= = O6X/=
S5x1= 8x10= = OX8=
8X2= 9x9= = 8X9=
9X3= 3Xx8= 10x7=

2 fout

2 minuten toets 1 t/m 10



Naam:

4x3= 12 10x4= 40
4x6= 24 10x5= 50
6x7= 42 10x6= 60
7x8= 956 x7= /7

9x5= 45 7x8= 956
8xb6= 48 2x9= 18
10x7=/0 4x10= 40
3x8= 24 5x5= 25
8x9= 72 4x7= 28
4 x10 =40 2x0= 0O

1Xx9= 9 10 x 10 = 100
4x5= 20 6x3= 18

5x1= 9 8x10= 80
8x2= 16 9x9= 81

9x3= 2/ 3x8= 24

3x7=_21
10x6=60
4x5= 20
3x4= 12
Ox3= 2/
10x2= 20
Ox1= ¢
4x2= 8
2x5= 10
1Xx4= 4
9x7= 63
6x7= 42
5x8= 40
8X9= 792
10x7=70




Naam:

4x1= 10x1= 3x1=
4x2-= 10x5= = 10x2=
6 XS = 10x2= = 4x5=
7 x10 = 1x1=  3x10=
?XxS= /x10=_ = 9x5=
8Xx2= 2x3= = 10x2=
10 x1= 4x10= = 9x1=
3x10= 5x5= = 4x2=
8x2= 4x2= = 2X3=
4x10 = 2x1= 1x10=
1X5 = 10 X 10 = ?x2-=
4X5= 6x2= = 6X1=
5x1= 8x10= = °5Xx10=
8x2= 9x5= 8X2=
9 x10 = 3X1= 10 x5 =

2 minuten toets 1,2,5,10
2 fout



Naam:

4x1=
4x2-=
6X5=

/7 X110 =

8x2=
10 x1=

3x10 =

8x2=

4 x10 =

1X3=
4XxX5=
O X1=
8Xx2=

9Xx10 =

4
8

30
/70

45

16
10

30
16

40

S

20

16

90

10x1= 10
10x5= 50
10x2= 20
1x1= |

7x10= /0
2x5= 10
4x10= 40
5x5= 25
4x2= 8

2x1= 2

10 x10 = 100
6x2= 12
8 x10= 80
9x5= 40
3x1= 3

3Xx1=

10X 2=

4X5=

3x10 =

9X5=

10 x 2=

4x2-=
2X9=
1x10 =
Px2=
6x1=

9 X10 =

8x2=

10 X3 =

20

20
30

45
20

10
10
18

50

16
50




